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RhombnE Trapezium ;|  Reclangle Paraliclogram ;ﬂ:daflrﬂateml having each angle equal to 50° is [ |
| . el = e tnaieSe 2 |
Greater Half Same Different Congruent figures have area.
| ez St > =’ : ;.L'MJUI( Seleeon Zu =
| Equality Inequality | Proportion Raio | Equality of two ratios is called:
gz o <l & AL AI AL oL a5
Paraliel Perpendicular Equal Concurrent | The right bisectors of sides of triangle are:
& % 4l o ‘AL ISCE L1
Concurrent Greater Equal Smaller Ina pamﬂ&;m opposite aﬂsles are:
4 3 2 | bR mpety”
In a triangle there can be only right angle.
2 ¥ ! 0 bl (0,1) 51 (1,048
Distance between the points (1, 0)and (0, 1) is:
(2164 _
* FS D -2- Objective Paper Code 5193
r “D C B o A Questions / cal:"r /F/./.
() 0.0 (1,0 ©,1) e DI 0= 0.0 8
; If(x,0)=(0, y), then (x, y) is:
3 5 . g -t{—dg(-":‘kf‘: -2<x <%,;,',[,o/j (x= 9
2 x=___isasolution of the inequality 2<% <3 . )
x+2 x=-2 x+3 x2+x-6 - Wl 5% +x-6 o x=2| 10
| H.C.F.of x-2 and x2+x-6 is:
‘ . 4 o 2
(x-DOx+2) | x=1,3x-2) | (x+1,0x+2) | (x+1),03x-2) A w -x-2| 1
Factors of 3x2 - x -2 are:
! ta - b)XaZ + ab - b?)| (s - b)aZ —ab + b2)| (a + b)(aZ —ab + b?)| (a —b)(aZ +ab+b?) 12

a® +b? is equal to:

:q_,clz a3 + bJ

-t Zﬂb’ "1 "4;}!/‘6(

0 ¢ 10 1 n
The logarithm of unity to any base is:
2
| w | ¥ | w dupadid 5| 1
Write 43 with radical sign:
Ty-2 ¥ 1-by-2 2by-2 VALl | 18
by hd > Whh:hitsordcanw'mfaso;mm-en:':-u-lx':?}'j M‘P
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(Part-1  J¥4daa)

In the given congruent triangles LMO and LNO, find unknown x :

M 0 N
-g,’!..-yum.df; _ujg/ﬁ’ungbwlﬁbwL{ 7em 2l dem « 3em (i)

3cm, 4cm and 7cm are not the lengths of the triangle, Give reason,

(@E17'D)

Attempt any SIX parts: g,{d‘::? l{c—éf -2
1f B=[_}] then find B+[7]. e B[]S o
Findproduct:  [! 2][ 3 ] (1 2][ 0 ] .ér)"' S lo(} (i)
Find the values of xand y:  x+iy + 14= 4-3 x+iy+1=4-3i uér}”uf‘z(f y#lx (i)
Csimplify: (32 +x3 P P x? ()
Find the value of x :  108¢gq X =—T2 loggy X = :32 Q{r)”d J x
Calculate:  logy 2xlog, 81 logs 2% log, 81 g,-(r:l” =d (i)
Simplify:  3243:0y10715 333045 L (vid)
Simplify: S;Z(;—tg ' %‘é’;—ig 2L (i)
Factorize:  x*-21x+108 x2-21x+108  :ZZ($7  (ix)

Attempt any SIX parts: g’:’d&v ‘i;(gf -3
Use factorization to find square root of: 4x2 ~12x+9 4x% ~12x+9 5(;"" ¢ /lup P24 }ld APk ()
Solve the inequalities: ~ 4x—103521x-18 4x-103<21x-18 2L KU F (i)
Define strict inequalities. | T “EEB AU A (i)
Write the given equation in the form of y =mx + c: 3-2x+y=0 é"fuﬁded/ y=mx+ cfobl/é%; @iv)
Define Cartesian plane. -g;f - j‘{{ S5 u’*i( )
Find the distance between two points:  A(~4, v 2 ), B(~4,-3) A4, N2), B4,-3) g obylend LBy (vi)
Define scalene triangle. oy Sai el (vii)
What is meant by (SSS =SSS) 2 S e (PP SRS (vili)
m° n :;‘Sr,iv:,EJ n°em® ¢ y° ¢ x° ufd"érd: (ix)

750 o]y Find the unknown values of x°, y°, m°, n° in the given figure:

Attempt;any SIX parts: :g,{d’,tz lgc__éf =4

216 18 gEed§ x Ut LNO o LMo Wbt Edls )
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In isosceles triangle PQR shown in the figure. Find the value of x and y:

Q 6m ¥ y R

Find the unknown value in the given figure: B B ‘{r,lvjl *"(’l”cUbLPU%J (iv)

-U‘UbUJCﬂllﬁquumJG' c=25cm«b=2cm«¢a=1.5cm f{u’#’ )
Verify thata=1.5cm, b=2cm, c¢=2.5cm are sides of a right triangle.

Define height of the parallelogram & /‘.’.J AL Wi S5 (vi)
State congruent area axiom. _g{ ug,bwo‘)ﬂl Kux.’;gf & (vii)
Construct triangle XYZ in which: mXY =5.5cm , mZX =4.5m » mLZ=90° WA el XYZ &4 (vi)
Define point of concurrency. -gE 2 J‘E"f: (ix)

U 9 08 Ly ez lotivfe §f ipaias

Part - II, Attempt any THREE questions. Each question carries 08 marks. Question No. 9 is compulsory.

x—-4y=4 3x-4y=4

Solve by using the Cramer's rule: X+2y=8 X+2y=8 :g;’f J’a.ud/ UL // =)
AR ge\E ) . Pt £ (o
Simplify: (’E) > [-a— s, an EF (D)

438)°/0.056 438)°1/0.056
Use logarithm to find the value of: L__(?z,—gg)“_ ( (;88)4 5(:5’ el 24 d/(‘{ gy (<)

-i(:!”uigfx —y3Inxy=21 4 x-y=4 /1 ()
If X—y =4 and Xy =21 then find the value of x> —y°

Factorize by factor theorem: X’ —x?-22x+40 X’ —x?-22x+40 ,,é d f =S8 d/ J f:k"‘ (D

Find the H.C.F. by division method: 2%7 -4x*—6x , X’ +x* -3’ -3x? ijc,{pj‘” r}”l;lpf‘f) 21k (L)
1 2 1 2 . ;

Solve: x+§—=2(x—§-)—6x‘ : x+§=2(x——3-)—6x g_."f (I

BE Pt AL Szt ABC & ()
Construct the triangle ABC and draw the perpendlcular bisectors of its sides:

mAB = 2.4cm ; mAC=3.2cm , mZA =120°
_quﬂﬁﬁJf’bﬁuz;ULé,ﬁ‘o{(é;f.b‘

Prove that the bisectors of the angles of a triangle are concurrent.
-- OR | -~

_u"dyz/l/u",’zd(plcwmdﬂ:’dlJClﬂuf/l/JJlC:b/UJMG'/’/,J/éub‘

Prove that parallelograms on equal bases and having same (or equal) altitudes are equal in area.
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1
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L‘L“'f SRR wzu‘-’v’/);(}f()}/béé)é—'/&d’)’/{‘é ¥z -ufcfé.:D » CB ,.\._,yi_ﬁyﬁdtr/
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! C I B l A ’ Questions / = U A
/ ok ' _u'L/('j’c'JJ ;_/rJ‘ sl 2l
) ‘ = 1:4 The median of a triangle cut each other in the
: { ratio:
:  duxdizg L CGubxt i) U&G'XCWA Juxdus SELBISIE 3
Vo / Length x width | % (basexaltitude) | Base x altitude Length x length | Area of parallelogram:
.
e 1( = / - } ~ ; - e dndeternd Z > 3
. ' Symbol used for congruent is:
. 3} -q_U/ﬁJ u:uy*‘/iﬁﬂ_: Ape S 4
& | i 2 Bisection means to divide into equal
F part / parts.
l}\‘ ' i ) f&" s :4./3)J Al wugne 5
1‘, / 3 ! Dlagonals ofa pdmllelogram intersect each
’other at point / points.
R I u"o"/—w” . ) -/ cf" 55 /5 55505 6
. L Mo ! g‘(\)\i'gtsarallel lines intersect at point
(i)
Gl S s I i I P -
N =9 Objective Paper Code 5194
D C B A ‘ Questions / Ul \ yTed }
1,-1) 0.1 ) a.n S ROk (@, 2 0L 05
Mid point of the points (0, 0) and (2, 2) is:
v m I I PGl 7)) "’3‘\ 8
Point (2,-3) lies in quadrant:
341600 o3l i3l c,lwl&_uw&_.ﬂ.f 9
¢>1600 ¢ <1600 c21600 ¢ <1600 ", e
e capacity ¢
of an elevator is at most 1600 pounds then
| e
a+l a-1 +(@-1) +(a+l) Ot o2 2“1
The square root of a2 —2a+1 is:

A7l ot -4t \ 1

l
z_Jv?CuKa+\/—f7ULw‘ 12]

(@—2b)@2+2b%) | (a—b)(a +b)(a2 —4b2)| (a2 —26%)(a2 + 26%) | (a—b)(a+b)(a2 + 4b2)
Factors of a* —4b? are:
Ja +Vb -a-Jb —a+db a-vb
: Conjugate of surd a++/b is:
log(mn) nlogm mlogn (logm)™ "%Cﬁ’ W/f’ S log@m™ | 13
log(m™) can be written as:
/U-EECQ mé‘f . swef m(‘;cﬂ,iug o /&_f}
?lour;%l:f Negative integer | Rational number | Positive integer | Every real number is a: :
& i
3-by-2 1-by-2 2-by-2 2-by-1 s e b _Wf/vgﬁ?” Wl 1
Which is order of a square matrix?
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( Part - I J3 4aa )

Attempt any SIX parts: é{ J" '7"?(_ J Ve
Define rectangular matrix and give an example, _éfg)dv\.f () /‘L(u"s' uuV o
Coal3 6], ;
Verify the matrix A —[2 4] is a singular matrix. _¢_th /)LJ A= [2 4:| Jb 4’_’ d (i)
" 3 ¥
Sxmpllfy 52 +(52)3 52 +(52)3 é/f ("1)

Simplify:  N16x%° Wiy g ()
Iflog 2=0.3010 and log 3 = 0.4771 then find log 24  _gE (¥ ¢ log 24 v log 3 =0.4771 1 1og2=03010 /1 ()

log 5 +log6—log2 :zefu:fJff@m (vi)

Write in the term of single logarithm:  log5+log6—-log2

fx=2-v3 thenﬁnd‘i.‘. -5{(}1"‘@2(; %?)’:X=2—«/—3—ﬁ (vii)
simplify:  (3+V3)(3-V3) (3+V3)3-V3) L (i)

-2

e =0 S 3x3—10x2+13x—6)7;ér,~‘~*‘5g.=,mﬁgb (ix)

Find remainder if 3x3 —10x2 +13x — 6 is divided by (x—2) with remainder theorem.

Attempt any SIX parts: :{ J‘;W V4 G—JJ(
Define HCF. o /erbb )
Solve the equation 3TX ___x;_2 = ‘26i ~{J’ :( 3 x 2. E whls (@)
Solveforx: |3x-5|=4 [3x-5(=4 5{(:1”‘..&:()’ (iii)

e o s m L L S S Y IR e f 23y =1=0le (i)

Fmd the value of m and c of the line 2x +3y —1=0 in the form of y=mx+c,

Draw the graph: x=-6 x=-6 :’@L‘».»_ilf Falilr )
Find the distance between two points:  A®, 2), B(7, 2) A©,2), BT, D) g ebloblentbBl i (vi)

AQ,~6),B3,-6) gL ebillenis e LRl bests (D
Find the mid-point of the line segment joining the pairs of points: A(2,-6), BG,-6) '

Define congruency of triangles. -g{ - j""d’u-..f L?"Ju;L' (viii)

Define parallelogram. & ‘Ly /‘U/ e (i)

Attempt any SIX parts: :éd’d}.’l{c:.éf

Define right bisector of line segment, LSl ()
In triangle ABC which side is the largest? ?b’nlzc../dkjy/d'b Ly ABC & (if)

NS 459

B C P |

Define ratio. 2 "J/JJ.»V‘ (iii)

(Ui )
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__ér,h» mLP JymLQ=2.5cm Ly mQN=5cm  mLM=6cm ] MN || FQ-JI LMN &% (iv)

B Q In triangle LMN, MN ] F(j if mLM = 6cm , mQ-—N =5cm and mf6= 2.5cm , then find mLP .

M N p

S5cm ) w o

Find the value of x of triangle PQR: i ér,h‘:#: J Xk PQR &5 ®
Q X R

Define Pythagoras Theorem. S“L)ﬂ/l[a. N A2 (vi)
Define rectangular region. ‘ E /."JJIJ&&V (vii)
Define centroid of triangle. _EVS L s (i)
Construct triangle ABC in which: mAB=4.2cm , mBC=3.9cm , mCA =3.6cm :,,é’é.l'/.ABC L (ix)

- 9/,‘Ulr -uj/.‘.’ 68 édb’/: -é:r{foylﬁﬁaw)’dc.éf cpfl_,-\‘hin

Part - I, Attempt any THREE questions. Each question carries 08 marks. Question No. 9 is compulsory.

2X+y= 2 =3 .
Solve by the matrix inversion method: 6))2 + g,y =31 6))§ ::_- gy =1 ..é J’ LJJJJ}G)LU}J 5 ()
n 125 _ (2\4n-1
Use laws of exponents to simplify: ', 3( 9211():?3 5 @24 . ..é e, WS Ve ? (&)

3 2 3 2 -
Use logarithm to find the value of: (8'921;( ?7'95) (8'921;:(:,’7'95) ép"" :.u:f. c,ud/(‘js') ()

If x+-1—=3,then find the value of X3+L3 ‘él”w@gd/x3+—l-?ﬂ)(+l=3ﬁ (=)
X X i X x

e S gy PO =4 =T+ 6x-3m (§ 2 x 42 L w3 /S m Sk ()

For what value of m is the polynomial P(x) = 4x> — 7x% + 6x —3m exactly divisible by x +2?

Use division method to find the square root: 9x* —6x3 +7x% - 2x +1 sf_:r:l‘”é/by K&rﬁf’v ;,’M ()
ccaodate 1) 2 5 11 ey 2 5. 11 :
Solve: Z(X 6)+3 —6+3(2 3X) z(x 6)+3 = 6+§(5—3X) ﬁédﬂ (h.—ﬂ)’)

Construct the triangle XYZ and draw their medians: 2‘;{ G-l XYZ &8 (O)
mXY =4.5cm , mYZ=3.4cm , mZX =5.6cm
LB YL e s ek

Prove that the bisectors of the angles of a triangle are concurrent,

-« OR | -
Jm;’(Un/,l/.f,@'A_f.ulL)Undbu,l(wﬁbo’{jﬂ;”ﬁwﬂlbmﬁ'ﬁdélcMU'J)'PC.’.I:{WG'(}"V.QI;{:,;E

“Susaet
Prove that parallelograms on the same base and between the same parallel lines (or of the same altitude)
are equal in area.
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